# On a special case of the Diophantine equation 

$$
a x^{2}+b x+c=d y^{n}
$$

Lionel Bapoungué<br>Université de Yaoundé 1, École normale supérieure, BP 47, Yaoundé -Cameroun<br>Email: lbapoungue@hotmail.com


#### Abstract

The parity of the positive integer $v$ allows the solvability of the Diophantine equation $13^{v}-w^{2}-w=1$. When $v \equiv 0(\bmod 2)$, it is shown that the former equation has only the trivial solutions $(v, w)=(0,0),(0,-1)$. When $v \equiv 1$ $(\bmod 2)$, we use the order $\mathscr{O}_{f}=\mathbb{Z}+\mathbb{Z}[1+\sqrt{13}]$ of index $f=2$ of the quadratic field $\mathbb{Q}(\sqrt{13})$ and the recursive sequences to prove that it has only the solutions $(v, w)=(1,-4),(1,3)$.


2000 AMS Subject Classification: 11D09, 11D41, 11D61.
Keywords: Diophantine equations, quadratic fields, recursive sequences
(Received: 02 October 2010)

## 1 Introduction

In this paper, we consider the Diophantine equation

$$
\begin{equation*}
13^{v}-w^{2}-w=1 \tag{1.1}
\end{equation*}
$$

in integers $v$ and $w$. This equation is of the form

$$
\begin{equation*}
a x^{2}+b x+c=d y^{n} \tag{1.2}
\end{equation*}
$$

where $a, b, c$ and $d$ are fixed integers, $a \neq 0, b^{2}-4 a c \neq 0, d \neq 0$, which has only a finite number of solutions in integers $x$ and $y$ when $n \geq 3$. This was first shown by the author of [8] (see also [7]). It is well known that there is no general method for determining all integer solutions of (1.2), but many special cases of such Diophantine equations have been studied in the last few years, the discussions involving the following notions:

- the quadratic fields (see for example papers [1,2] and [3]);
- the recursive sequences (see also for example papers [5] and [6]).

We are going to use the above methods to study the solvability of (1.1).
When $v$ is even: $v=2 t$, equation (1.1) becomes $13^{2 t}-w^{2}-w=1$ and when $v$ is odd: $v=2 t+1$, (1.1) becomes also $13^{2 t+1}-w^{2}-w=1$. Write $z=13^{t}$. Then we have: when $v$ is even,

$$
\begin{equation*}
z^{2}=(w+1)^{2}-w ; \tag{1.3}
\end{equation*}
$$

when $v$ is odd,

$$
\begin{equation*}
13 z^{2}=w^{2}+w+1 . \tag{1.4}
\end{equation*}
$$

Multiplying (1.4) by 4 , we obtain $13(2 z)^{2}=4 w^{2}+4 w+4$, and so

$$
\begin{equation*}
13(2 z)^{2}=(2 w+1)^{2}+3 . \tag{1.5}
\end{equation*}
$$

Write

$$
\begin{equation*}
x=2 w+1, \quad y=2 z . \tag{1.6}
\end{equation*}
$$

Then we have

$$
\begin{equation*}
x^{2}-13 y^{2}=-3 . \tag{1.7}
\end{equation*}
$$

Equation (1.7) is of the form

$$
\begin{equation*}
v^{2}-\left(k a^{2}+b^{2}\right) w^{2}=-k \tag{1.8}
\end{equation*}
$$

treated in paper [4] with $\operatorname{gcd}(a, b)=1, a \geq 1, b \geq 0$ and $\delta=k a^{2}+b^{2}$ nonsquare in $\mathbb{Z}$ :

$$
\delta=k a^{2}+b^{2}=g^{2} d
$$

where $g \geq 1$ and $d$ is positive square-free. Write also

$$
L=\mathbb{Q}(\sqrt{d})=\mathbb{Q}(\sqrt{\delta})
$$

of discriminant $D_{L}: L$ is a real quadratic field and $\mathscr{O}_{L}$ the maximal order of $L$. The discriminant of equation (1.8) is

$$
D=4 \delta=4 g^{2} d=f^{2} D_{L}
$$

Then, with Theorem 2 of [4] the order of index $f$ associated to (1.8) of discriminant $D$ is $\mathscr{O} f=\mathbb{Z}+\mathbb{Z} f \omega$ with:

$$
\omega=\frac{1+\sqrt{d}}{2}, \quad f=2 g \text { if } d \equiv 1 \quad(\bmod 4) .
$$

or

$$
\omega=\sqrt{d}, \quad f=g \text { if } d \equiv 2,3 \quad(\bmod 4) .
$$

Then, taking $k=3, a=2$ and $b=1$ in (1.8), we obtain (1.7). Thus we have $D=$ $4 \times \sqrt{13}, d=\sqrt{13}, D_{L}=\sqrt{13}$; hence $f=2$ and $\omega=\frac{1+\sqrt{\sqrt{13}}}{2}$. Therefore, the order of $\mathbb{Q}(\sqrt{\delta})$ associated to equation (1.7) is

$$
\begin{equation*}
\mathscr{O}_{2}=\mathbb{Z}+\mathbb{Z}[1+\sqrt{\sqrt{13}}] \tag{1.9}
\end{equation*}
$$

Hence the solvability of (1.1) will be based on (1.3) and (1.7).

Thus, in Section 2, we give all the solutions of equation (1.3) (Theorem 1). In Section 3, we describe with the aid of arguments of [4] the families of all the solutions of (1.7) (Proposition 2); in the remainder of Section 3, we introduce the recursive sequences connected to these families of solutions (Proposition 3. These sequences allow to prove in Sections 4 and 5 respectively that when v is odd, (1.1) has no solution in Z (Theorems 6 and 8). The paper is ended in Section 6 with the complete set of the solutions of (1.1).

## 2 Solutions of equation (1.3)

In this section, we begin by giving the integer solutions of (1.3) in integers $w$ and $z$.

Theorem 1. Equation (1.3) has only the solutions $(w, z)=(0,1),(0,-1),(-1,1),(-1,-1)$.
Proof. Write (1.3) in the form

$$
(w-z+1)(w+z+1)=w .
$$

Then we see that $w-z+1$ and $w+z+1$ are divisors of $w$. Thus, if the sign is chosen so that $\operatorname{sgn} w=\operatorname{sgn} z$, then we have

$$
|w \pm z+1| \geq||w \pm z|-1|=||w|+|z|-1|
$$

whence

$$
|w|+|z|-1 \leq|w \pm z+1| \leq|w|
$$

and $|z| \leq 1$. Therefore there are only three values of $z$ :
$z=0$ : then, from (1.3) we have $w=\frac{-1 \pm \sqrt{-3}}{2}$ which is not an integer;
$z=1$ : then, $(1.3) \Rightarrow \mathrm{w}=-1$ and $w=0$;
$z=1$ : then, $(1.3) \Rightarrow \mathrm{w}=1$ and $w=0$.

## 3 Solutions of equation (1.8)

It is well known by [4] that equation (1.8) has two families of solutions. In this section, we use arguments of [4] to prove the following proposition:

Proposition 2. The solutions in pairs of natural numbers $(x, y)$ of (1.7) comprise the values of the sequences $\left(x_{w}, y_{w}\right)(w \geq 0)$ by setting:

$$
\begin{equation*}
x_{w}-y_{w} \sqrt{\sqrt{13}}= \pm(7 \pm 2 \sqrt{\sqrt{13}})(649 \pm 180 \sqrt{\sqrt{13}})^{w} \tag{3.1}
\end{equation*}
$$

Proof. First, we develop $-f \omega^{\sigma}=1+\sqrt{13}\left(\omega^{\sigma}\right.$ is the conjugate of $\omega$ in $\left.m O_{f}\right)$ in continued fraction to find the fundamental unit of $m O_{f}$ (cf. relation (1.9)):

$$
\begin{array}{llrl}
\sqrt{13}-1 & =2+(\sqrt{13}-3), & & u_{0}=2 \\
\frac{1}{\sqrt{13}-3} & =1+\frac{\sqrt{13}-1}{4}, & & u_{1}=1 \\
\frac{4}{\sqrt{13}-1}=1+\frac{\sqrt{13}-2}{3}, & & u_{2}=1 \\
\frac{3}{\sqrt{13}-2}=1+\frac{\sqrt{13}-1}{3}, & & u_{3}=1 \\
\frac{3}{\sqrt{13}-1}=1+\frac{\sqrt{13}-3}{4}, & & u_{4}=1
\end{array}
$$

Next, we form the following table:

| $n$ | 0 | 1 | 2 | 3 | 4 |
| :--- | :--- | :--- | :--- | :--- | :--- |
| $u_{n}$ | 2 | 1 | 1 | 1 | 1 |
| $p_{n}$ | 2 | 3 | 5 | 8 | 13 |
| $q_{n}$ | 1 | 1 | 2 | 3 | 5 |
| $p_{n}^{2}+2 p_{n} q_{n}-12 q_{n}^{2}$ | -4 | 3 | 3 | 4 | -1 |

The fundamental unit of $m O_{2}$ of the quadratic field $\mathbb{Q}(\sqrt{13})$ is:

$$
\sqrt{13}+5(1+\sqrt{13})=18+5 \sqrt{13} .
$$

Moreover, since the Legendre symbol $\left(\frac{3}{\sqrt{13}}\right)$ is equal to 1,3 splits in $m O_{2}$ and Proposition 1 of [4] shows that $\mathscr{O}_{2}$ has two non-associated elements of norm 3:
$7+2 \sqrt{13}$ and $7-2 \sqrt{13}$. Hence, the families of solutions of (1.7) are given by:

$$
x-y \sqrt{13}= \pm(7 \pm 2 \sqrt{13})(18+5 \sqrt{13})^{2 w}, \quad w \in \mathbb{Z}
$$

and taking $x=x_{w}, y=y_{w}$ we obtain

$$
x_{w}-y_{w}= \pm(7 \pm 2 \sqrt{13})(649 \pm 180 \sqrt{13})^{w}, \quad w \in \mathbb{N}
$$

Considering the general solutions (3.1), we prove the following proposition:
Proposition 3. The sequence $\left(x_{w}\right)_{w} \geq 0$ and $\left(y_{w}\right)_{w}$ verify respectively the following recursive formulae:
(i) $x_{w+2}=1298 x_{w+1}-x_{w}$ and
(ii) $y_{w+2}=1298 y_{w+1}-y_{w}$.

Proof. It is clear that, with relation (3.1) we have $x_{0}=7, x_{1}=1279$. Next, relation (3.1) can be expressed in the form:

$$
\begin{aligned}
x_{w+1}-y_{w+1} \sqrt{13} & =(649+180 \sqrt{13})\left(x_{w}-y_{w} \sqrt{13}\right) \\
\text { or } x_{w+2}-y_{w+2} \sqrt{13} & =(649+180 \sqrt{13})^{2}\left(x_{w}-y_{w} \sqrt{13}\right)
\end{aligned}
$$

whence $x_{w+2}-y_{w+2} \sqrt{13}=(842401+233640 \sqrt{13})\left(x_{w}-y_{w} \sqrt{13}\right)$.
But $842401+233640 \sqrt{13}=842402+233640 \sqrt{13}-1$.
Therefore $x_{w+2}-y_{w+2} \sqrt{13}=(842402+233640 \sqrt{13})\left(x_{w}-y_{w} \sqrt{13}\right)-\left(x_{w}-y_{w}-\sqrt{13}\right)$ whence $x_{w+2}-y_{w+2} \sqrt{13}=1298\left(x_{w+1}-y_{w+1} \sqrt{13}\right)\left(x_{w}-y_{w} \sqrt{13}\right)$,
so that

$$
\begin{aligned}
& x_{w+2}=1298 x_{w+1}-x_{w} ; \\
& y_{w+2}=1298 y_{w+1}+y_{w}
\end{aligned}
$$

Put $\alpha=649+180 \sqrt{13}$ and write $\beta=649-180 \sqrt{13}$ for the conjugate of $\alpha$. Then, $\alpha$ and $\beta$ have the same minimal polynomial $P_{\alpha}=P_{\beta}=x^{2}-1298 x+1$. Relation (3.1) shows that we can write:

$$
\begin{array}{ll}
x_{w}-y_{w} \sqrt{13}=\varepsilon(7+2 \varepsilon \sqrt{13}) \alpha^{w}, & \varepsilon \pm 1 ; \\
x_{w}-y_{w} \sqrt{13}=\varepsilon(7+2 \varepsilon \sqrt{13}) \beta^{w}, & \varepsilon \pm 1 ; \\
x_{w}-y_{w} \sqrt{13}=(7+2 \sqrt{13}) \beta^{w} ; & \\
x_{w}-y_{w} \sqrt{13}=(72 \sqrt{13}) \alpha^{w} . \tag{3.5}
\end{array}
$$

Then, the sequences $\left(x_{w}\right)_{w \geq 0}$ and $\left(y_{w}\right)_{w \geq 0}$ of relations (3.2), (3.3), (3.4) and (3.5) also verify respectively the recursive formulae (i) and (ii) of Proposition 3.

Therefore in view of Propositions 2 and 3, it suffices to consider only relation (3.2). In this case, let us pass first the following remark:

Remark 4. As $z_{w}=\frac{y_{w}}{2}$ (cf. second relation of (1.6)), the positive value $z_{0}=1$ corresponds to $w=0$ in (3.2). Then, since $v$ is odd: $v=2 t+1$, this imposes $t=0$ and $v=1$.

Therefore, in the ensuing of the two following sections, we may suppose that $t \geq 1$. Then, the goal of our work is to find $w$ such that $z_{w}= \pm 13^{t}$. Then, we look at $z_{w}$ modulo $\rho$ for well chosen integers, that is to say $\rho=7,13,53,79$.

## 4 Case $\varepsilon=1$

In this case, we have $z_{0}=1, z_{1}=1279$. We now use Proposition 3 to prove the following proposition:

Proposition 5. Let $\varepsilon=1$ and let $w=2 t+1$ with $t \geq 1$. If the sequence $\left(y_{w}\right)_{w \geq 0}$ given by (3.2) satisfies the condition (ii) of the preceding proposition, then we have the following congruences:

$$
\begin{array}{rll}
(i) & z_{w} \equiv \pm 1 & (\bmod 7) \\
(i i) & z_{w} & \equiv 0 \quad(\bmod 13) ; \\
(i i i) & z_{w} \equiv 16 & (\bmod 53) ; \\
(i v) & z_{w} \equiv 13 & (\bmod 79)
\end{array}
$$

Proof. Considering relation (3.2) for $\varepsilon=1$, we must find $w$ such that

$$
\begin{equation*}
x_{w}^{2}-13 y_{w}^{2}=-3 . \tag{4.1}
\end{equation*}
$$

Hence, with (ii) of Proposition 3:
(i) modulo 7 we have:

| $w$ | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 |
| :--- | :--- | :--- | :--- | :--- | :--- | :--- | :--- | :--- |
| $z_{w}$ | 1 | 5 | 0 | 2 | 6 | 2 | 0 | 5 |

Here, we see that the sequence $\left(z_{w}\right)$ is periodic with period 8 . Then, $z_{w}= \pm 13^{t}$ implies $z_{w} \equiv 1(\bmod 7)$.
(ii) modulo 13 we have:

| $w$ | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 |
| ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: | ---: |
| $z_{w}$ | 1 | 5 | 2 | 4 | 3 | 3 | 4 | 2 | 5 | 1 | 6 | 0 | 7 | 12 | 8 | 11 | 3 | 10 | 10 |
| $w$ | 19 | 20 | 21 | 22 | 23 | 24 | 25 |  |  |  |  |  |  |  |  |  |  |  |  |
| $z_{w}$ | 9 | 11 | 8 | 12 | 7 | 0 | 6 |  |  |  |  |  |  |  |  |  |  |  |  |

Here, we see that the sequence $\left(z_{w}\right)$ is periodic with period 26 . Then, $z_{w}= \pm 13^{t}$ implies (as we have assumed that $t \geq 1) z_{w} \equiv 0(\bmod 13)$.
(iii) modulo 53 we have:

$$
\begin{array}{ccccccccccccccc}
w & 0 & 1 & 2 & 3 & 4 & 5 & 6 & 7 & 8 & 9 & 10 & 11 & 12 \\
z_{w} & 1 & 7 & 22 & 35 & 40 & 51 & 14 & 48 & 15 & 24 & 26 & 16 & 19 .
\end{array}
$$

We see that the sequence $\left(z_{w}\right)$ is periodic with period 13 . Then, $w \equiv 11(\bmod 13)$ shows that $z_{w} \equiv 16(\bmod 53)$.
(iv) modulo 79 we have:

| $w$ | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $z_{w}$ | 1 | 15 | 35 | 69 | 20 | 58 | 56 | 29 | 61 | 70 | 28 | 13 | 19. |

We see that the sequence $\left(z_{w}\right)$ is periodic with period 13 . Then, $w \equiv 11(\bmod 13)$ shows that $z_{w} \equiv 13(\bmod 79)$.

In the next theorem we go on to prove that (1.1) has no integer solution.

Theorem 6. Let $\varepsilon=1$ be and let $w=2 t+1$ with $t \geq 1$. Then, under the congruences of the precedent proposition, equation (1.1) has no solution in $\mathbb{Z}$.

Proof. Since $\varepsilon=1$, with the precedent proposition we have:
the congruence of (i) imposes $w \equiv 0,4(\bmod 8)$, therefore 4 divides $w$ and this is impossible.

The congruence of (ii) also imposes $w \equiv 11,24(\bmod 26)$; but $w$ is even, therefore $w \equiv 24(\bmod 26)$, that is to say $w \equiv 12(\bmod 13):$ impossible.

From (iii), we see that 13 is of order 13 and we have:

| $t$ | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 |
| :--- | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $13^{t}$ | 13 | 10 | 24 | 47 | 28 | 46 | 15 | 36 | 44 | 42 | 16 | 49 | 1 |

and $z_{w}=13^{t}$ implies $13^{t} \equiv 16$ whence $t \equiv 11(\bmod 13)$ : impossible because $t \equiv 1$ $(\bmod 13)$;
$z_{w}=13^{t}$ implies $13^{t} \equiv 37$ : impossible.
From (iv) we have: $z_{w}= \pm 13^{t}$ implies $13^{t-1} \equiv 1(\bmod 79)$ and as 13 is of order 39
modulo 79, we must have:
$13^{t-1} \equiv 1(\bmod 79)$, impossible because 13 is of the odd order modulo 79;
$13^{t}-1 \equiv 1(\bmod 79), t \equiv 1(\bmod 79)$ and $t \equiv 1(\bmod 13)$. This proves that equation (1.1) has no solution when $\varepsilon=1$ and $w=2 t+1$ with $t \geq 1$.

## 5 Case $\varepsilon=-1$

In this case we have $z_{0}=1, z_{1}=19$ and as in the preceding case, we also use Proposition 3 to prove the following proposition:

Proposition 7. Let $\varepsilon=1$ be and let $w=2 t+1$ with $t \geq 1$. If the sequence $\left(y_{w}\right)_{w \geq 0}$ given by (3.2) satisfies the condition (ii) of Proposition 3, then we have the following congruences:
(i) $z_{w} \equiv 1(\bmod 7) ;$
(ii) $z_{w} \equiv 0(\bmod 13)$;
(iii) $z_{w} \equiv 16(\bmod 53)$;
(iv) $z_{w} \equiv 13(\bmod 79)$.

Proof. Considering relation (3.2) for $\varepsilon=1$, we must find also $w$ such that

$$
\begin{equation*}
x_{w}^{2}-13 y_{w}^{2}=3 \tag{5.1}
\end{equation*}
$$

Hence, with (ii) of Proposition 3 we have:
(i) modulo 7 , the sequence $\left(z_{w}\right)$ is periodic with period 8 and it is exactly the same as in the case $\varepsilon=1$.
(ii) modulo 13 we have:

```
w
zw
w
zw
```

Here, we see that the sequence $\left(z_{w}\right)$ is periodic with period 26. Then, $z_{w}= \pm 13^{t}$ implies (as $t \geq 1) z_{w} \equiv 0(\bmod 13)$.
(iii) modulo 53 we have:

```
w
z
```

We see that the sequence $\left(z_{w}\right)$ is periodic with period 13 . Then, $w \equiv 2(\bmod 13)$ shows that $z_{w} \equiv 16(\bmod 53)$.
(iv) modulo 79 we have:

| $w$ | 0 | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $z_{w}$ | 1 | 19 | 13 | 28 | 70 | 61 | 29 | 56 | 58 | 20 | 69 | 35 | 15. |

We see that the sequence $\left(z_{w}\right)$ is periodic with period 13 . Then, $w \equiv 2(\bmod 13)$ shows that $z_{w} \equiv 13(\bmod 79)$.

Next, we go on to prove the following theorem:
Theorem 8. Let $\varepsilon=1$ be and let $w=2 t+1$ with $t \geq 1$. Then, under the congruences of the precedent proposition, equation (1.1) has no solution in $\mathbb{Z}$.

Proof. Since $\varepsilon=1$, with the precedent proposition we have:
the congruence (i) imposes $w \equiv 0,4(\bmod 8)$, therefore 4 divides $w$ and this is impossible.

The congruence (ii) imposes $w \equiv 2,15(\bmod 26)$; but $w$ is even: $w \equiv 2(\bmod 26)$ : therefore $w \equiv 2(\bmod 13):$ impossible.
The proof of (iii) is the same as in Theorem 6. From (iv) we have: $w \equiv 2(\bmod 13)$ implies $z_{w} \equiv 13(\bmod 79)$ and we conclude as in the case $\varepsilon=1$.

This proves that equation (1.1) has no solution when $\varepsilon=1$ and $w=2 t+1$ with $t \geq$ 1.

## 6 Complete set of solutions of (1.1)

This section is devoted to the theorem giving all the solutions of (1.1). For the proof of this theorem we shall use the parity of the positive integer $v$ (cf. Section 1), Theorem 1 and Remark 4.

Theorem 9. Equation (1.1) has only:
(i) the trivial solutions $(v, w)=(0,-1),(0,0)$, when $v \equiv 0(\bmod 2)$;
(ii) the non trivial solutions $(v, w)=(1,-4),(1,3)$, when $v \equiv 1(\bmod 2)$.

Proof. (i) When $v \equiv 0(\bmod 2)$, from Theorem 1 we have $\left(\right.$ as $\left.z=13^{t}\right)$ :
if $z=0$, this implies $13^{t}=0$ : impossible;
if $z=-1$, this implies $13^{t}=-1$ : impossible;
if $z=1$, then we have $13^{t}=1$ : this imposes $t=0$, whence $v=0$; then equation (1.3) becomes $w^{2}+w=0$ which has the solutions $w=0$ and $w=-1$.

Finally, when $v$ is even, (1.1) has only the trivial solutions $(v, w)=(0,-1),(0,0)$.
(ii) When $v \equiv 1(\bmod 2)$, from Remark 4, we have $v=1$ and we see that the solutions of equation $13-w^{2}-w=1$ are $w=3$ and $w=-4$. Moreover, Theorem 6 and 8 show that there is no more solution. Finally when $v$ is odd, (1.1) has only the solutions $(v, w)=(1,4),(1,3)$.

Remark 10. Taking $a=b=c=d=1$ and $y=13$ in (1.2), we obtain the equation $x^{2}+x+1=13^{n}$ : this is the same as equation (1.1). But Theorem 9 shows that in certain cases, the integer $n$ satisfying (1.2) is not forcely 3.

Therefore, equation (1.1) is a special case of equation (1.2).

## References

[1] S.A. Arif and F.S. Abu Muriefa, On the Diophantine equation $x^{2}+2^{k}=y^{n}$. Internat. J. Math. and Math. Sci.. Vol. 20, 2 (1997), 299 - 304.
[2] S.A. Arif and F.S. Abu Muriefa, On the Diophantine equation $x^{2}+q^{2 k+1}=y^{n}$. J. Number Theory, 95 (2002), 95-100.
[3] S.A. Arif and A.S. Al-Ali, On the Diophantine equation $a x^{2}+b^{m}=4 y^{n}$. Acta Arith., 103, 4 (2002), 343-346.
[4] L. Bapoungué, L' équation de Pell $v^{2}-\left(k a^{2}+b^{2}\right) w^{2}=-k$ par les idéaux des corps quadratiques $\mathbb{Q}\left(\sqrt{k a^{2}+b^{2}}\right)$. Expo. Math. 19 (2001), 251-266.
[5] L. Bapoungué, The system of Diophantine equations $7 z^{2}-20 y^{2}=52$ and $3 z^{2}-20 x^{2}=68$. Internat. J. Algebra, Number theory and Applications. Vol. 1, 1 (January-June 2009), 111.
[6] K.S. Kedlaya, Solving constrained Pell equations. Math. Comp. 67 (1998), 833-842.
[7] E. Landau and A. Ostrowski, On the Diophantine equation $a y^{2}+b y+c=d x^{n}$. Proc. Lon. Math. Soc. (2), 19 (1920), 276-280.
[8] A. Thue, Uber die Unlösbarkeit der Gleichung $a x^{2}+b x+c=d y^{n}$ in grossen ganzen Zahlen $x$ and y. Arch. Math. og Naturvidenskab, Kristiania, Bd XXXIV (1916), 1-6.

